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	 x (m)	 –96	 –64	 –32	 0	 32	 64	 96

	 y (m)	 0	 126	 178	 192	 178	 126	 0
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Maximum height = 192 m
x = 50 m, y = 154 m
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Question 8 (50 marks)
Question 8 (a) (i)

Question 8 (a) (ii)

Question 8 (b) (i)

Question 8 (b) (ii)
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h =32 m, y1 = 0 m, y2 = 126 m, y3 = 178 m, y4 = 192 m, y5 = 178 m, y6 = 126 m, y7 = 0 m
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Question 8 (c)

Question 8 (d) (i)

e e x

e e x x

y e

x x

x x

+ = +

∴ + = + = +

= −

−

−

2

2 2
1521

231 19 57

2

1

39

2

2
1

39

1

39

1

3

( )

. { 99

1

39

231 19 57 2
1521

231 39 14 0 013

191

2

2

x xe

x

x

+

= − +








= − −

=

−
}

.

. .

.886 0 013
2− . x

Question 8 (d) (ii)
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Question 8 (e) Question 8 (f)
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